
Nome: SoluzioniTrova i multipli

Matematica www.CommonCoreSheets.it
1-10 93 87 80 73 67 60 53 47 40 33
11-15 27 20 13 7 0

Risposte

1. D

2. C

3. D

4. B

5. A

6. C

7. B

8. A

9. A

10. C

11. C

12. C

13. A

14. D

15. A

Risolvi ogni problema.

1) Quale opzione è un
multiplo di 10?

A. 118

B. 178

C. 197

D. 190

2) Quale opzione è un
multiplo di 5?

A. 78

B. 99

C. 80

D. 59

3) Quale opzione è un
multiplo di 2?

A. 23

B. 27

C. 25

D. 32

4) Quale opzione è un
multiplo di 2?

A. 31

B. 26

C. 27

D. 37

5) Quale opzione è un
multiplo di 6?

A. 78

B. 79

C. 124

D. 106

6) Quale opzione è un
multiplo di 5?

A. 99

B. 63

C. 100

D. 59

7) Quale opzione è un
multiplo di 9?

A. 150

B. 180

C. 124

D. 170

8) Quale opzione è un
multiplo di 6?

A. 90

B. 117

C. 89

D. 85

9) Quale opzione è un
multiplo di 3?

A. 42

B. 44

C. 56

D. 49

10) Quale opzione è un
multiplo di 10?

A. 188

B. 165

C. 160

D. 202

11) Quale opzione è un
multiplo di 2?

A. 39

B. 29

C. 40

D. 27

12) Quale opzione è un
multiplo di 3?

A. 37

B. 58

C. 39

D. 35

13) Quale opzione è un
multiplo di 3?

A. 36

B. 61

C. 35

D. 62

14) Quale opzione è un
multiplo di 5?

A. 104

B. 57

C. 94

D. 60

15) Quale opzione è un
multiplo di 6?

A. 72

B. 68

C. 111

D. 122
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